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1. A 1000 bond with coupon rate c convertible semiannually will be redeemed at par in n years. The
purchase price to yield 9% convertible semiannually is P. If the coupon rate were c - 0.015, the price of
the bond would be P - 125.92. Another 1000 bond is redeemable at par at the end of2n years. It has a
coupon rate of9.5% convertible semiannually and the yield rate is 8% convertible semiannually.
Calculate the price of this second bond. [7 .a-b #21]
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2. An insurance company owns a 1000 par value 9% bond with semiannual coupons. The bond will mature
for 1000 at the end of 11 years. The company decides that an 6-year bond would be preferable. Current
yield rates are 7.5% compounded semiannually. The company uses the proceeds from the sale of the 9%
bond to purchase a 5.5% bond with semiannual coupons, maturing at par at the end of 6 years. Calculate
the par value of the 6-year bond. [7.a-b #24]
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3. Two bonds are both redeemable at their par value of 100 int years. Bond A has 5.5% semiannual

coupons and costs 82. Bond B has 6.5% semiannual coupons and costs 88. lhe bonds were purchased to
produce the same yield rate. What is the yield rate per annum convertible semiannually? [7.a-b #25]
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At least 8.4%, but less than 8.6% 
At least 8%, but less than 8.2% 
At least 8.2%, but less than 8.4% 
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At least 8.6%, but less than 8.8% 
At least 8.8%, but less than 9% 
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4. A bond with coupons equal to 35 sells for 1000. A second bond with the same maturity value and term
has coupons equal to 20 and sells for 800. A third bond with the same maturity value and term has
coupons equal to 90. All prices are based on the same yield rate, and all coupons are paid at the same
ffequency. Determine the price of the third bond. l7 .a-b #271
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5. Two bonds are purchased for the same price to yield 4o/o. Bondxhas 3% annual coupons and matwes
for its face value of 100. Bond Y has annual coupons of 2 and matures for 170. Both bonds mature at
the end ofn years. Calctlate n. [l.a-b #281
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6. You are given the following information on a bond:
(i) Pm value = 1000.

(ii) Redemption value: 1000 - p = 5'A
liiij Coupon rate: l}%o,convertible semiannually. /
(iv) ttispricedto yield6o/o,convertiblesemiannually. '+ u = 3%
The bond has a term ofn years. Ifthe term ofthe bond is doubled, the price will increase by 80.
Calculate the price of the n-year bond. U.a-b #3ll
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